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QUESTION 1

When the following SQL statement is executed, user smith will NOT be able to do which of the following? 

REVOKE USE OF STOGROUP stogr1 FROM smith; 

A. CREATE TRIGGER ...; 

B. CREATE TABLE ... IN db1.ts1; 

C. CREATE DATABASE ... STOGROUP stogr1; 

D. CREATE TABLESPACE ... USING STOGROUP stogr1; 

Correct Answer: D 

 

QUESTION 2

Which of the following describes OLTP workload rather than an analytics workload? 

A. Extreme data volume 

B. Temporary or intermediate staging of data 

C. Set-oriented processing and bulk operations 

D. A large number of short, discrete, atomic transactions 

Correct Answer: D 

Reference: http://www.ibmbigdatahub.com/sites/default/files/document/IBM-Netezza-Understanding-Analytic-Workloads-
eBook.pdf 

 

QUESTION 3

If a scrollable cursor is INSENSITIVE, which of the following applies? 

A. The cursor is read only 

B. WITH ROWSET POSITIONING is not allowed 

C. The select-statement must not contain an SQL data change statement 

D. The cursor has sensitivity to changes that are made to the database after the result table is materialized 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/java/src/tpc/ imjcc_tjvsjscr.html 
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QUESTION 4

Which catalog table would you query in order to determine the relevant statistics for an index? 

A. SYSIBM.SYSKEYS 

B. SYSIBM.SYSFIELDS 

C. SYSIBM.SYSCOLUMNS 

D. SYSIBM.SYSINDEXSTATS 

Correct Answer: D 

 

QUESTION 5

In the parent table of a referential constraint, a parent key must be which of the following? (Choose two.) 

A. A unique key 

B. A foreign key 

C. A primary key 

D. A duplicate key 

E. A secondary key 

Correct Answer: AC 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020153.html 
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